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proportional relationship.
It is the ratioy to x, or a
unit rate. It tells you the
constant multiple between
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Digits 2-3: Constant of Proportionality

Key Concept

>

Key Concept

Recall that two quantities x and y have a proportional relationship If y
Is always a constant multiple of x. This constant multiple % is called the
constant of proportionality.

If x and y have different units, then the constant of proportionality can be
written as a unit rate.

Each brick shown has 100 cm
a length of 20 cm. The ‘ '

i |
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of one brick to the

number of bricks Is 20 Number of Bricks 1 2 3 4 5

to 1, so the unit rate Total Length (cm) 20 10 60 80 100

Is 20. The proportion

remalns the same as Total Length (cm) 2 40 60 80 100
1 2 3 4 5

bricks are added. The Number of Bricks =20 | =20 | =20 | =20 | =20

final proportion is 100
to 5, so the unit rate Is
still 20.

The constant of proportionality Is 20 ¢cm per brick.

Part 1: Finding Constants of Proportionality

>

Part 1
Example Finding Constants of Proportionality

The welght of the stack depends

on the number of books In the

stack. Identify the constant of
proportionality for this situation. Then
use the constant of proportionality to
find the weight of 11 books.




Part 1 (continued)

Solution

The constant of proportionality Is the ratio % where x Is the independent
variable and y Is the dependent variable.

Here the Independent variable Is the number of books and the dependent

variable is the welght of the stack.

constant of proportionality = %

A stack of 9 books
_ 1575k 15.75 Ib.
=3 weighs 15.75 Ib
= 1.75 Ib per book

The constant of proportionality is 1.75 Ib per book.

The constant of proportionality Is a unit rate that gives the welght per book.
So to find the welght of 11 books, multiply the constant of proportionality

by 11.

1.75 b _ 1750 .
m'11tﬂ€*5——1m 11b93k5

=19.251b
The weight of 11 books Is 19.25 Ib.

Got It?

Each shoebox is the same height. The
height of the display depends on the
number of shoeboxes in one column of
shoeboxes. What is the constant of
proportionality for this situation?

45 in.

Part 2: Comparing Constants
of Proportionality

Part 2
{ Example Comparing Constants of Proportionality

You have a recipe that calls for 2 cups of flour to make 3 dozen cookles. Your
friend has a cookle recipe that calls for 3 cups of flour to make 60 cookles.
Are the constants of proportionality the same for the two recipes? Are the
recipes for the same cookie? How do you know?




Part 2 (continued)

Solution

Since the number of cookies made depends on the amount of flour used, the
constant proportionality Is the ratio of the number of cookles to the amount
of flour.

number of cookies 3 dozen = 36
amount of flour

constant of proportionality =
You: constant of proportionality = 8cokies

2 cups flour
= 18 cookles per cup of flour

60 cookies

Your friend: constant of proportionality = S <*="

= 20 cookles per cup of flour

Your recipe has a constant of proportionality of 18 cookles per cup of flour.
Your friend’s reclpe has a constant of proportionality of 20 cookles per cup
of flour.

The recipes do not have the same constant of proportionality since each
recipe makes a different number of cookles per cup of flour. This means the
reclpe are not for the same cookle.

W Got It?

You run on a treadmill daily at a constant speed. On Monday, you ran 2.25 mi in
22.5 min. On Tuesday, you ran 2.35 mi in 25 min. Are the constants of proportionality
the same for the two days? How do you know?

Part 3: Using Constants of Proportionality

Part 3 ~
{ Example Using Constants of Proportionality
The table shows the amount of money raised Charity Fundraiser
based on the number of tickets sold for a _
charity concert. Tickets Sold Money Raised (%)
a. Does the table show a constant of 160 3,600
proportionality? If so, what Is the
constant of proportionality for this 20 na
situation? 750 16,875

b. You can sell no more than 2,500

tickets for the concert. Find the 1,600 36,000

maximum amount of money the
fundraiser can ralse.




Part 3 (continued)

Solution -

a. First determine If the table shows a proportional relationship between
the amount of money raised and the number of tickets sold.

Charity Fundraiser

The amount of money
Money Raised (5) raised depends on the
number of tickets sold.

L =22.50 1
For each row, the ratio
1 11,250 _ of the money raised to
i 11450 500 25 \ tickets sold Is $22.50 per
~— ticket.
750 16,875 15875 _ 5250
- 750
=
1,600 36,000 -’5—1 600 250 | |

————
The table shows a proportional relationship between the amount of
money raised and the number of tickets sold.

Money Raised
Tickets Sold

= $22.50 per ticket

constant of proportionality =

The constant of proportionality Is $22.50 per ticket.

b. The maximum number of tickets that can be sold is 2,500. To find the
maximum amount of money that can be raised, multiply the constant
of proportionality by 2,500.

$22.50 . 2,500 tickets = §56,250

The maximum amount of money that can be raised Is $56,250.
\

“ Got It?

The table shows the time it takes to
pump gasoline based on the number of
gallons pumped. What is the constant of
proportionality for this situation?

Pump Rate
17 136
12 9%
105 84
9.25 74




Part 4: Finding Constants of Proportionality from Graphs

Part 4
gExample Finding Constants of Proportionality From Graphs

this situation?

Use the point (1, 80).

Got It?

The graph shows the distance a
cyclist traveled based on time. What
is the constant of proportionality for
this situation?

Solution
Male Hummingbird
Wing Beats
A
- 320 Y
S B 20
a oo
-E E 160
== 8 gt X
0 >
0 1 2 3 4°5
Time (s)
and find the ratio %.

The graph shows the number of times a male
hummingbird beats its wing based on time.

a. What Is the constant of proportionality for

b. What does the point (1, 80) represent?

(1,80 |

constant of proportionality = f
80

1

Distance Traveled

X

1

2 3 4 5 6
Time (hr)

Number of

Wing Beats

The graph shows a proportional relationship between time and the number
of wing beats since the graph Is a straight line passing through the origin.

a. The number of wing beats depends on time. To find the constant of
proportionality, choose any point (x, y) on the graph except the origin

The constant of proportionality is 80 wing beats per second.

b. The point (1, 80) represents 80 wing beats In 1 second. This point
represents the unit rate, 80 wing beats per second. This point also
represents the constant of proportionality.

Male Hummingbird

Wing Beats
I

320 .4

240

160

80 X

% 123458
Time (s)

Got It? Solutions

Part 1: 9 in. per shoebox

Part 2: The constants of
proportionality were not the
same for the two days. The
contstant of proportionality for
Monday was 0.1 mi per minute
and the constant of
proportionality for Tuesday was
0.094 mi per minute.

Part 3: 8 seconds per gallon

Part 4: 20 km per hour




I
Close and Check

N
é Focus Question
What is a constant of proportionality? What does the constant of proportionality
tell you?
\ 4
® Do you know HOW? - @ Do you UNDERSTAND?
1. Each bus carries 24 passengers. The 4. Writing Which variable in Exercise 3
number of buses needed for a field trip - represents the independent variable
depends on the number of students : and which represents the dependent
going on the trip. What is the constant  © variable? Explain.
of proportionality for this situation?
| per|
2. Your class collects cans for a local food
bank. On Monday, 7 students collect
63 cans. Using the constant of
proportionality, find the number of
students who collect 90 cans on
Tuesday.
| students 5. Reasoning How can you use the
‘ . relationship between the independent
3. The table shows Ticket Sales and dependent variables to write a
the number of : unit rate?

concert tickets sold
based on the

number hours the 240
tickets are 5 400
available. What is 9 720
the constant of 15 1200

proportionality for

this situation?

[

Copyright © by Pearson Education, Inc., or its affiliates. All Rights Reserved.



I
Close and Check

>

Focus Question

What is a constant of proportionality? What does the constant of proportionality

tell you?

Sample: The constant of proportionality describes the

relationship between fwo quantities that have a proportional

relationship. It is the ratio y to x, or a unit rate. It tells you the

constant multiple between the two quantities.

-

Do you know HOW?

. Each bus carries 24 passengers. The

number of buses needed for a field trip
depends on the number of students
going on the trip. What is the constant
of proportionality for this situation?

[24 sTuden’rsi per[

bus

. Your class collects cans for a local food

bank. On Monday, 7 students collect
63 cans. Using the constant of
proportionality, find the number of
students who collect 90 cans on
Tuesday.

| 10  students

. The table shows Ticket Sales
the number of
concert tickets sold
based on the
number hours the 240
tickets are 5 400
available. What is 9 720
the constant of 15 1200

proportionality for
this situation?

[80 tickets per hour"

4,

SAMPLE SOLUTIONS ARE SHOWN BELOW.

Do you UNDERSTAND?

Writing Which variable in Exercise 3
represents the independent variable
and which represents the dependent
variable? Explain.

Dependent variable: tickets

Independent variable: time

The number of tickets sold

depends on how long they have

been on sale.

. Reasoning How can you use the

relationship between the independent
and dependent variables to write a
unit rate?

A denominator of 1 represents

the independent variable.

The dependent variable is the

numerator that shows the

number of occurrences

per unit.

Copyright © by Pearson Education, Inc., or its affiliates. All Rights Reserved.



| pigital . .
: I Re‘%ources' K . A

1. The variable y is in a proportional . Golden Oldies, 2005
relationship with x. The number of Golden Oldies, 2008
squares represents an x value. The .
number of ovals represents the Golden Oldies, 2003
corresponding y value. Identify the Golden Oldies, 2002
constant of proportionality. Golden Oldies, 2001

Golden Oldies, 2000

The height of 6 DVD cases is 114 mm.

a. What is the constant of
proportionality in millimeters per
DVD case?

b. What is the height of 13 DVD
cases in millimeters?

L R I I R I R

2. Suppose the relationship between x
and y is proportional. When x is 6, y is . 7. Estimation The graph shows the

78. Identify the constant of number of calories burned while
proportionality of y to x. running. Estimate the constant of
Since a middle school opened, the proportionality of calories burned to
girls” basketball team has had the same time spent running.

record every season. The team has won
a total of 169 games while losing only

W

Calories Burned
While Running

L R N N TN

13 games. Find the constant of L S S

proportionality of wins to losses. : 600l e ]

4. Does the table show a proportional : = 500 Mi o 3
reiationship? If so, what is the . g P §
constant of proportionality of y to x? : @ A0 oo
E .Q 300 |~ i A
61718 . 2 -/ : o
1081126 144; 8 200l o ¥ MMW?
100 v

5. The distance a jet aircraft flies has a : ;

% 10 20 30 20 50 &0
Time (minutes)

proportional relationship with its
number of hours in flight. The table
shows the number of miles flown for

T . -
a number of hours in flight. a. The constant of proportionality is

about how many calories per

Passenger Jet Travel minute?
2 3 4 5 . What does the point (35, 315)
represent?
840 11,260 | 1,680 | 2,100 A. 315 calories burned in
35 mi
a. Find the constant of proportionality. mlnu.tes .
] ) B. 35 calories burned in 315
b. How long will the jet take to travel minutes

4,620 miles?

The height of a stack of DVD cases is
in a proportional relationship to the
number of cases in the stack. A stack
of 6 cases and its height are shown.

C. 315 calories burned in 1 minute

o

L L R R I I I I I R T T o

See your complete lesson at MyMathUniverse.com

Topic 2 m Lesson 2-3




Digits 2-4: Proportional Relationships and Equations

Key Concept

Key Concept
{ You have used tables and graphs to represent proportional
relationships. An equation can also describe a proportional
relationship between two variables.

Recall that when there Is a proportional relationship between x and y,
y Is a constant multiple of x. This constant multiple is the constant of

proportionality.
y = mx

Constant of proportionality, ,’;

Since the value of y depends on the value of x, y Is the dependent variable
and x Is the Independent variable.

Part 1: Understanding Equations Representing Proportional
Relationships

Part 1
{ Example Understanding Equations Representing
Proportional Relationships

Your friend uses the equation y = 8.5x to calculate the total cost y In dollars
for x movie tickets.

a. What Is the constant of proportionality shown in the equation?
b. What does the constant of proportionality represent In this situation?
¢. How much will 13 movile tickets cost?

Solution

a. y=85x
85=1%
The constant of proportionality is $8.50 per ticket.

b. The constant of proportionality represents the unit cost, or the
price, y, per movie ticket, x.

¢. To find how much 13 movie tickets will cost, substitute 13 for x.
y = 8.5x

Substitute 13 forx. = 8.5(13)
Multiply. = 110.5
It will cost $110.50 for 13 movle tickets.




Part 1
(continued)

Got It?

The equation P = 4s represents the perimeter P of a square with side
length s. What is the constant of proportionality? What is the
perimeter of a square with side length 1.6 m?

Part 2: Identifying Equations of Proportional Relationships

Part 2
{Example Identifying Equations of Proportional
Relationships

a. A certain vegetable dip contains 60 Calories per serving. What
equation represents the number of Calories y in x servings of dip?

b. At a telethon, a volunteer can take 60 calls In 5 h. What equation
represents the number of calls y a volunteer can take In x hours?

¢. A machine can make 60 keys In 12 min. What equation represents the
number of keys y made In x minutes?

Solution -

Find each unit rate. Then use the unit rate to write an equation.

a. Let y = the number of Calories. Let x = the number of servings.
The unit rate Is 60 Calorles per serving.

) The label " Calorles”
y Calories = in—"?’“" « X servings a?%s:rs ?xnatl both sides
""""g of the equation.
y Calorles = %° c-a»l»k’"“ . X

1__ _S60Caeries = = 1
yCaIerteS--: R = 1 X colori@
y=60-x
y = 60x

b. Let y = the number of calls. Let x = the number of hours.

goh:l': = 12 calls per hour. The unit rate Is 12 calls per hour.

yalls = 1205 hours

1 heur

The label “calls”
12 calls

y@lls = === X appears on both sides
f the equation.
1 _ 12 calts 1 e
yd};. ca”f = = = X a“g

y=12-x

y = 12x




Part 2 (continued)

c. Let y = the number of keys. Let x = the number of minutes.
?2’ :I‘: = 5 keys per minute. The unit rate Is 5 keys per minute.
k
y keys = % « X min
5 keys - The label "keys”
ykeys = —5=-x appears on both sides
of the equation.
T s O L. SO ) =
keys 1 keys
y = 5 - X
y = 5x
\
Got I1t?

You paid $2.50 for 5 apples. Write an equation to represent the
total cost y of buying x apples.

Part 3: Writing Equations for Proportional Relationships

'S

Part 3

Intro

When you travel to another country, you often need to exchange
U.S. dollars for the local currency. When you exchange money,
you recelve the equivalent amount in local currency based on the
exchange rate. An exchange rate Is an example of a constant of
proportionality.

Recently, the exchange rate for U.S. dollars to Indian rupees was
1 dollar = 45 rupees. The constant of proportionality Is 45 rupees
per dollar.

Example Writing Equations for Proportional Relationships

You are going on a trip to Currency Exchange
Spaln. When you ask for the

-
exchange rate, your bank "
shows you the table. Write an 50 37.50 ey
equation you can use to find 100 75 @
how many euros y you will
recelve In exchange for x U.S. 120 %0
dollars. 175 131.25




Part 3 (continued)

Solution -

The number of euros, y, you recelve depends on the number of U.S.
dollars, x, you exchange.

Currency Exchange

U.S. Dollars (S) Each row shows the

37 unit rate of 0.75 euros

50 3750 | 2385°=075|  perus dolar
100 75 | g5 =075

120 0 | 13 =075

175 13125 | B2 =07

There Is a proportional relationship between U.S. dollars and euros.

The constant of proportionality is the unit rate of euros per
U.S. dollar, or 0.75.

The equation Is y = 0.75x.

Check -
In the equation, x represents the number of U.S. dollars and y represents the
number of euros.
Let x = 50. Let x = 100. Let x = 120. Let x = 175.
y = 0.75(50) y = 0.75(100) y = 0.75(120) y = 0.75(175)
= 3750/ =75/ =90/ = 131.25v/
-
W Got It?

You have returned from your trip with
euros leftover. Use the table to write an
equation you can use to find about how
many U.S. dollars y you will receive in
exchange for x euros.

Currency Exchange

03 oot e

50 37.50
100 75
120 90
175 131.25




Part 4: Solving Proportion Problems

Part 4
{ Intro
A proportion Is an equation stating that two ratios are equal. You can use

a proportion to solve a problem. Solving a proportion is similar to finding an
equivalent ratio.

il
3 -

T - —
I

In the average adult male, for each 5 Ib of body weight about 3 Ib Is water.
How much of a 188-Ib adult male Is water?

Set up a proportion. - ey «\é\(l)adtsr (Ib)
5 188  Welght (Ib)
Multiply each side of 3(188) = % (188)
the equation by 188.
Simplify. % =w
1128 =w

About 112.8 |b of a 188-Ib adult male Is water.

@ Example Solving Proportion Problems

In a local soccer league, the ratio of goalies to the total number of players
on a team Is about 2 to 30. If the league has 915 players, about how many
goalles are there?

Solution

Method 1 Use a proportion. Let x = the total number of goalies in

the league.
number of goalies 2 X
Use the ratio total number of players 30 - 915
2
Multiply each side by 915. 30 (915) = 575 - (915)
1,830 _

Simplify. 30 —X

61 =x

There are about 61 goalies in the league.

Method 2 Use an equivalent ratio.
Find an equivalent ratio % with a denominator of 915.




Part 4 (continued)

First divide the numerator Then multiply the numerator
and denominator by 7 ' and denominator by 61. '

/’ \\/’ 6’\‘5
915

\ 2_/‘\x i

The ratio 915 Is equivalent to 2 30°

There are about 61 goalies in the league.

'Got It?

The ratio of defensive players to the total number of players in a
different soccer league is about 9 to 30. If the league has 890 players,
about how many defensive players are in the league?

Got It?

Solutions

Part 1: 6.4m

Part 2: y=0.5x

Part 3:y-1.33x

Part 4: about 267 defensive players




I
Close and Check

>

Focus Question

How can you tell if an equation shows a proportional relationship between two
quantities? How can you identify the constant of proportionality in an equation that

represents a proportional relationship?

-

Do you know HOW?

. The equation g = 12c represents the

quantity q of t-shirts in any number of

cartons c.

a. What is the constant of
proportionality?

[

b. How many shirts are in 8 cartons?

shirts

. A car manufacturer completes 81 cars

every 180 seconds. Write an equation
to represent the total number of cars y
for x seconds of production.

|

. Use the table to write an equation to

find how much money y is received for
x ounces of silver on the open market.

Silver (0z) 5 9 12
Price ($) 151.35 | 272.43 | 363.24

- @ Do you UNDERSTAND?

4. Writing Can setting up a proportion

help you find the constant of
proportionality in a relationship?
Explain.

. Error Analysis Assume 130 out of

150 students buy lunch each day.
There are 180 school days in a year.
A classmate writes an equation to find
how many lunches will be sold in one
school year. Is he correct? Explain.

130 _ x

150 180

Copyright © by Pearson Education, Inc., or its affiliates. All Rights Reserved.



I
Close and Check

N
‘ Focus Question
How can you tell if an equation shows a proportional relationship between two
quantities? How can you identify the constant of proportionality in an equation that
represents a proportional relationship?
Sample: An equation shows a proportional relationship between
two quantities if it can be written in the form y = mx.
The constant of proportionality is the coefficient of x in the
equation y = mx.
\ v
SAMPLE SOLUTIONS ARE SHOWN BELOW.
® Do you know HOW? : @ Do you UNDERSTAND?
1. The equation g = 12c represents the : 4. Writing Can setting up a proportion
quantity q of t-shirts in any number of help you find the constant of
cartons c. proportionality in a relationship?
a. What is the constant of Explain.
proportionality? .
Yes. Set a proportional
12
o _ _ relationship equal to %. The
b. How many shirts are in 8 cartons? f
96 | shirts solution is the constant of
2. A car manufacturer completes 81 cars proportionality.
every 180 seconds. Write an equation 5. Error Analysis Assume 130 out of
to represent the total nu-mber of carsy 150 students buy lunch each day.
for x seconds of production. There are 180 school days in a year.
[ y = 0.45x A classmate writes an equation to find
’ how many lunches will be sold in one
3. Use the table to write an equation to school year. Is he correct? Explain.

find how much money y is received for
x ounces of silver on the open market.

Silver (0z) 5 9 12
Price ($) 151.35 | 272.43 | 363.24

y = 30.27x |

130 _ _x

150 180

No. The ratio is 130 student in

1 day = x number of students

in 180 days. He should have

written @ = X

Copyright © by Pearson Education, Inc., or its affiliates. All Rights Reserved.



2-4 l Home_WO-rk

1. The equation y = %x describes a
proportional relationship between
x and y. What is the constant of
proportionality?

2. The equation P = 3srepresents the
perimeter P of an equilateral triangle
with side length s. What is the
perimeter of an equilateral triangle
with side length 4 t?

3. You bike 11.2 milesin 1.4 hours at a
steady rate. What equation represents
the proportional relationship between
the x hours you bike and the distance
y in miles that you travel?

4. Marco needs to buy some cat food. At
the nearest store, 3 bags of cat food
cost $15.75. How much would Marco
spend on 5 bags of cat food?

5. An arts and crafts store sells sheets of
stickers. Use the table to write an
equation you can use to find the total
cost y in dollars for x sheets of stickers.

Costs of Stickers

3 615

5 10.25
13 26.65
19 38.95

6. Jane likes to exercise daily. The table
shows the number of calories y she
burns by exercising steadily for
x minutes. How many calories would
she burn by exercising for 29 minutes?

Calories Burned

2 _ ¢t
7. Solve the proportion 5; = g5

R ]

I I I R I T T S S B S S R A B S B A RS B AR B A N A

P R S R N N N R R R A

Digital

10.

11.

12.

__ Resources m Y 1) ‘;&

In a certain chemical, the ratio of zinc to
copper is 3 1o 16. A jar of the chemical
contains 320 grams of copper. How
many grams of zinc does it contain?

. Mental Math Professional chefs

usually measure ingredients by weight
rather than by volume. A recipe calls
for 2 ounces of flour for every
3 ounces of sugar.
a. If you are a chef and you use
12 ounces of sugar, how many
ounces of flour should you use?

b. Explain how you can use mentai
math to find the answer. Explain
why a chef might need mental
math to find an answer like this.

Writing Ann’s car can go 228 miles on
6 gallons of gas. During a drive last
weekend, Ann used 7 gallons of gas.
a. How far did she drive?

b. Explain how the problem changes
if you were given the distance Ann
drove last weekend instead of how
much gas she used.

Reasoning The equation y = 6.41x

describes a proportional relationship

between x and y.

a. What is the constant of
proportionality?

b. Explain why your answer is called
the “constant of proportionality.”

Muitiple Representatlons TGI?e

proportions £ =4 € and 2 3 = ¢ are called
equivalent proportions.
a. Findga proportion equivalent to

3

7T x

7_19 7_x
A.g=5% B.3=3
7_X 7_38
C.§ 3 D. ;= 3

b. What is the solution of the
proportion?

¢. Explain why, based on this
example, solving an equivalent
proportion can be useful.

See your complete lesson at MyMathUniverse.com

Topic 2 Lesson 2-4
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4.7 Additional Practice Scan for @

Multimedia

Leveled Practice In 1-2, fill in the missing signs or numbers.

1. Write an equivalent expression to 2. Write an equivalent expression to
m — (8 — 3m) without parentheses. —2(1.5h + 5) — 4(=0.5 + 3h).
m 8 3m -2 +(-2) - —
=m 3m 8 4 . +(=4) -
= m 8 = h + + + h
= h+

3. A bag of mixed nuts contains almonds and hazelnuts. There are
(6x + 13) nuts in this particular bag, and (3x — 7) of these are hazelnuts.

a. Which expression represents the number of almonds in the bag?

®6x+13—-Bx—7) ©6x+13—-3x—7
®3x—-7—-6x+13 ©®3x—7—(6x+13)
b. There are almonds in the bag.

4. Simplify each expression.

a. 10x — (=7 + 6x) b. 12y — (-4 - 8y)
c. 14z—-3—-(6—-52) d.(-9p+7)—(—9p + 3)

5. Subtract (7.8 — 5.1t) from (2.8 — 3.2t). Use 6. Critique Reasoning Tim simplified the
the Commutative Property to show the difference ;-p — (zllp - 4) as %p — 4. Did he
difference another way. find the correct difference? Explain.
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In 7-8, subtract the expressions.

7. (~4b + 15— 7K) — (6 + 4b — 2K) 8. (7j+2q+3) (39— 11+2))

9. Higher Order Thinking Make a conjecture about what happens
when expressions are subtracted in the opposite order. What happens
when the results are added? Support your conjecture with an
example in which several of the signs are negative.

@ Assessment Practice

10. An expression is shown.

(0.5n +0.3) — (0.75n — 0.45)

Create an equivalent expression without parentheses.

11. Select all pairs of equivalent expressions.

6x+ 13— B3x—7)and6x+ 13+ (—3x+7)
3x—7—6x+ 13 and —3(x + 2)

6x+ 13 —-3x—7and5x+ 10 —2x — 4
3x—7—(6x+13)and —2x —7 + (5x — 13)
—(6x+13)—(—3x—7)and —3(x + 2)
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